B

Fittings

central lubrication
system

Isohitech
Lubrication

https://isohitech.com



HOSE END AND STUD

T LOPRD

THQPF6-2 % QPHE-2

b/

|

Wit 7

H#3£QPB6-2

.-—-Hr i
1 /-
]
;=
NPT ,'

B %L GPHF6 F4£JB1987.2G

_— =

M|




FITTING

M10=}

E#IKGPd6

e
. Hl%

£k

Wil |

#3tkQPd6-1/4

M0]

0
HEGPN6

L L]

12 5. GPD610

S13

311



COMPRESSION NUT

SKETECH P.N.
L P.N. DIA dl d2 d3 L L1 S
L1 .
i| CB-A03 ®3 V6 10° | 32 | 1 |75 | o7
” o = 4\ CB-A04 o4 VSx1 9° | 42 | 118 | 7 8
T _ CB-A06 6 wioxt | 90° | 6.2 | 128 | 88 | 10
CB-A08 ®8 w25 | 90° | 82 | 14 | 10 | 12
CB-A10 @10 wiexl.5 | 90° | 102 | 16 | 11 | 16
SKTECH RGP/
P.N. DIA dl d2 d3 L L1 S
L g CB-B03 ®3 MSx1 RI | 32 | 125 | 7 | 8
- rL _ _,/ ;:\ 1 CB-B04 o4 MSx1 a2 | 1s | 7 | o8
i “Hin] Ly CB-BOG ®6 M10x1 6.2 | 12 7 | 10
R R e P R1.5
vl & N CB-B08 ®8 | Mi2xl.25 g2 | 13 | 8 | 12
CB-B10 ®10 | MI6xl.5 0.2 | 16 | 11| 17
ROGPO
P.N. DIA dl d2 d3 L L1 S
CB-C03 ®3 V6x 1 5.2 | 1 7| 6
CB-C04 o4 uSx1 12 | 12 g8 | 8
CB-C06 o6 wioxl | 90° | 62 | 135 | 85 | 10
CB-C08 ®8 MI2x1 g2 | 16 | 10 | 13
B-C10 | @10 | wmi6xl.5 0.2 | 20 | 14 |17

EH: AR REEE M




SLEEVE

SKETCH \
P.N. DIA D d1 L
CS—-A301 D3 [oF3 3.2 5
_ CS-A401 4.5
D4 (013} 4.1
CS-A402 5
2 R I — = CS-A601 5.5
(013} D8 6.1
CS—-A602 6
L CS—-A801 6.5
[OF] D10 8.1
CS—-A802 8
CS-A1001 D10 D12.4 10. 2 9
UMGVE R®PO
»
. 05
B
L1 P.N. DIA D d1 d2 L L1
i |
: CS-B401 D4 D6 4.1 4. 65 4.5 1.7
/% — |
= T T T CS-B601 D6 [oF 6.1 6. 45 5.5 2.4
L
UMGVE RCPO
4.5
PN DIA d2 di L
9 |77 CS10-C1001 10 ®124 | ®10.2 9

Y AR ORFEEM




] QUG VWDG

UMGVE RCTCOGVGT

TYPE | P.N. | TUBE SIZE D D2 D1 L

401 ®4%0.75 | ®3.8 | ®2.5 | @19 11

Ti=4 | 402 D42 ®3.8 P2 ®1 1
] 403 D 450. 5 ®3.8 ®3 ®2.4 | 15.5
601 15.5

£ — = D6l ®5.8 D4 ®3.4

T1-6 | 602 11

) - 603 ©6%1.25 | ®5.8 | ®3.5 ®3 15
' - T1-8 | 801 D81 ®7.8 6 ®5 15.5
T1-10 | 1001 ® 10%] ®9.8 ®8 7 15

1201 ® 1251 ®11.8 | @10 ®9 15

TI-12 | 1202 | ®12%1.25 | ®9.8 | ®7.5 | ®6.7 16

1203 | @®12%1.5 | ®I1.8 9 7.5 15




UMVGE] C

S
TYPE P.N. | TUBE D M L S
- - CN-3A 301 | @3 | ®3.3
Mg 1 12 | 10
ON-4A 401 | o4 | o4.2
= £ = o
ON-6A 601 | ®6 | @6.2 M10%1 13 | 12
L
UMGVE] D
S
[ — TYPE P.N. | TUBE D M L S
801 ®8. 2 12
ON-8A ®8 M12%1 14
= - L. a 802 ®8.3 12.5




R NWI -, . |
>4 ‘.) T ;
s Ll ——
C D
RNWI C
d
o TYPE | P.N. | DIA. d L1 L s
| ] CP-4A 401 P4 M8x1 12 16 8
L '
k1 | CP-6A | 602 ®6 M10%1 15 | 20 | 10
L
RNWI D
}< TYPE | P.N. | DIA M L S a D
401 30° ®3.5
CP-4B @4 | M8xl 15 | 8
1 402 45° /
602 18 | 10 | 25° ®5.5
CP-6B @6 | M10%1
§ 602 15.5 | 11 | 45° /
=/ L
CP-16B | 1003 | ®10 | MI6%L.5 | 22 | 16 | 45° /
RNWI E
TYPE | P.N. | DIA M L | L | s
cP-4C | 401 ®4 M1 12 11
7.5
CP-6C | 601 6 MI0*L | 12.5 13
CP-8C | 801 ®§ | MI2%1.25 | 13.5 | 8.5 | 16
1001 Ml4x1.5 | 15 | 9.5 | 18
CP-10C ®10
1002 M16%1.5 | 15.5 | 11 | 20
CP-12C | 1201 | @12 | M18«l.5 | 18 | 12 | 22




RNWI F

AxB

TYPE P.N. M L L1 S AxB D
401 11
11
402 12 | GROOVE /
CP-4D 403 M8*1 13 5
404 8 /
12 /
405 D3
601 5 13 | GROOVE /
11
602 M10%1 14
/
603 13 4
10
CP-6D 604 13 D5
R1/8
605
15 6 /
606 11
71/8
607 14 5
801 14 6 16
CP-8D M125%1 /
802 16 5 16
CP-10D | 1001 | M16%1.5 16 6 19 GROOVE
CP-12D | 1201 | M18%1.5 16 6 21




RWUJ KPI 6 P RNWI

s P& % [ % [ W% [

HAR ek 7 BV Y e 2

UMGVGE)

VLR PRI ORFEE



RWUJ] PI RNWI

=XEL RE=S d1 L1 | Lz | WaFl
HE-KCTZ0404-024-00 M4 £ |8
HE-KCTZ0405-024-00 5
5 | 2d

HE-ECTZ0406-024-00 i3
HE-ECTZ0416-024-00 | M5x0. 75 11

! HE-KCTZ0408-024-00 Mol ]
HE-ECTZ0410-024-00 Miox1 25
HE-ECTZ0418-024-00 R1/8 7

HE-KECTZ0451-02 400 NPT1/8

WAF1 HE-KCTZ0604-024-00 1 4 | 23
HE-KCTZ0B05-024-00 M5
5 | 24
HE-KCJZ0606-024-00 s
HE-KCJZ0B16-024-00 | M8x0. 75
8 8 13
HE-ECTZ008-024-00 MExl
HE-KCJZ0B10-024-00 | M10x1 25
?
HE-KCJZ0618-024-00 R1/8 7
z‘ HE-ECJZ0621-024-00 | NPT1/8
WAF1
A

L1




GNDQY

RWU) K1
B0 RS d1 i L2 L3 | warl
j HE-KCTLO404-024-00 14 4 14
HE-KCTLO405-024-00 5
HE-KCTLO406-024-00 e g 15

HE-KCTLO416-024-00 | MB=x0. 75
4 19. 5 8
HE-KECTLO408-024-00 M=l

HE-ECTLO410-024-00 M10=1

6.5 16
HE-ECTLO418-024-00 R1/8
: HE-ECTLO481-024-00 | NPT1/8
HE-ECTLOG04-024-00 4 4 15
= HE-ECTLOGO5-024-00 M5
| HE-ECTLOGOG-024-00 & 5 16
K\! O
i ‘“ . HE-ECTLOG16-024-00 | MEx0. 75
B 6 21 11
HE-ECTLOGOS-024-00 Mgl
HE-ECTLOG10-024-00 | M10xl
6.5 17

HE-ECTLOG18-024—00 R1/8

HE-ECTLOSE1-0Z2A—00 NFT1/2




UY KPI

- RGP O
RWU] K1 & K
=120 TEi= d1 L1 | L2 | L3 | waFLl | WaF2
HE-KCTHO404-024-00 4 4 18
HE-KCTHO0405-024-00 5
HE-KCTHO406-024-00 1A 5
HE-KCTHO416-024-00 | MAx0. 75
4 % 10 10
HE-KCTHO408-024-00 |  M8xl 19
HE-KCTHO410-024-00 | M10x1
6.5
HE-KCTHO418-024-00 | R1/B
1 HE-KCTHO481-024-00 | NPTL/8
WAR2
HE-KCTHOR04-024-00 4 4 0
i WAF1
o ” HB-KCTHOB05-024-00 5
- HE-KC THOB0R-024-00 e 5
1 HB-KCTHOB16-024-00 | MAx0. 75
B 6 28 13 13
HE-KCTHOROB-024-00 |  Mxl 21
HB-KCTHOB10-024-00 |  M10x1
7.5

HE-ECTE0618-024-00 R1/8

HE-ECTX0681-024-00 NPTL/3




UVTCK ] V EQWRNKPI

E

M1

C. D
RGO
TYPE | P.N. | TUBE | M1 M2 s | L | u
401 M6%1
402 M6%0.75 | 10 | 18 6
403 M81
404 ME*1
1| 21 8
405 ME%0. 75
406 W81
SA-4A o4 | M8kl
407 M10%1
11| 18 8
408 R1/8
409 71/8
A 410 M10%1
X 411 RI/8 | 10 | 16 8
| | 1 o 412 71/8
cl"v 601 M81 7
v ¥ 602 M10%1
60° 20
) 603 R1/8
SA-6A | 604 | ®6 | Mi0x1 | z1/8 | 12
8
605 M8%1
606 M10%1 18
607 R1/8
801 M10%1
802 RIS | 15 | 24 | 10
B 803 71/8
SA-8A o8 | MI12%1
804 MI4%1.5 | 17 | 24 | 115
805 R1/4
4| 22 | 12
806 71/4




M1

TYPE P.N. TUBE M1 M2 S L L1
\ 401 Mo6%*1
{
402 Me*0. 75
10 18 6
1N o~ 403 M8*1
= SA-4B D4 M8*1
404 M10*1
/ L1 405 R1/8
40° 10 16 8
406 71/8
601 M10*1 14 20 10
602 R1/4 14 24 12
SA-6B [OJ M10*1
603 R1/8
12 20 8
604 71/8
801 R1/8 25 8
SA-8B (O} M14%*1.5 17
802 R1/4 28 10
s s G2 =4 M1 M2 L1 L 5
401 ME*1 .5
20.5 1
SA-AC 402 da Ma*1 Ma*1
403 M10*1 17
7.5
401 ME*1 21.5 13
SA-6C 402 6 M10*1 M10*1 18
403 M12%1.25 8.5 18.5
401 M10*1 7.5 22 16
402 M12*1.25 8.5 22.5
SA-8C g M12*1.25
403 M14*1.5 10
24
404 M16%1.5 11
19
401 M14*1.5 10 28
SA-10C $10 M16%1.5
402 M12*1.25 8.5 27.5




TYPE P.N. M1 M2 L S L2 L1
SA-4D 401 M8*1 M10*1 12
25 12 4.5
601 M8*1 6.5
SA-6D M10%*1
602 M12*1 26 14 11 6




GNDQY EQWRNKPI

M1

e
' ii? . (?
!!EE&
C.D E
TYPE | P.N. | TUBE M1 M2 L L1 S
401 M6*1
402 M6%0. 75
403 M81
1818 | 8 10
LB-4A | 404 | @4 M8%1 M10%1
405 R1/8
406 71/8
M2
: 407 R1/4 22422 | 9 13
601 M6x1
602 M6%0. 75
603 Mgx1
20420 | 8 12
604 M10%1
z L.B-6A 6 M10%1
605 R1/8
- 606 71/8
— 607 R1/4
22422 | 9 13
X 608 71/4
801 M14%1
22%95 15
802 M14%1. 5
803 M8*1
M12%1 10
804 M10%1
1.B-8A P8 22%24 14
805 R1/8
806 71/8
807 R1/4
M14%1. 5 30%30 | 13 17
808 71/4




M1

M1

, TYPE | P.N. | TUBE M1 M2 S L L1
| 401 M6*1
| o
| 402 M6%0. 75
z 403
I LB-4B D4 M8*1 M8*1 10 | 18%18 8
1 | 404
N7 R1/8
405
/ 71/8
601 R1/8 20%20 8
LB-6B D6 M10%1 12
602 71/8 20%25 13
i nME whe Mg M1 M2 L H B
401 ME+1
20 1T
LE-41C 402 $q Ma+1 Ma+1
403 M1 01
Y]
a0l Max1 22 13
LE-AC A02 ) M1 W11
BOE M1z2%1. 25 8.5
s01 M10*] 26 fiEa) 164
LE-&8C a0z Dy M12+1. 25|M12+1, 25 2.5
803 31 10 19
Mid*1.5
1001 4 F¥ia)
LE-10C =5 0] Mif+1.5 34 20
1002 MiG*l. 5 11




GNDQY EQWRKPI

TYPE | P.N. | TUBE M1 M2 L | L1 F
401 M6%0. 75
402 M6*1
403 M8*1
14
404 M10%1
405 R1/8
8
406 71/8
M1 LF-4A D4 M8%*1 20
7 i \‘ i 407 M8*1
. 408 M10%1
| 13
. gl o 409 R1/8
_7 = V /74_ g
T 410 71/8
_ ) 411 R1/8
9 1114
' L1 412 71/8
L 601 M6%0. 75
602 M6*1
603 M8*1
LF-6A ®6 M10%1 22 | 8 16
604 M10%1
605 R1/8
606 71/8




TYPE | P.N. | TUBE M1 M2 L | L1 F
M1 401 R1/8
|
i i )I 402 71/8
i} | T
] l 403
ﬂ V. M10%1 20 8
 — _ I of | LF-4B | 404 4 M8*1 14
~ 1 M6 1
1 405
; ' II Z M8s*1
L1
406 71/8 23 | 11
L
601 R1/8
22 8
LF-6B | 602 D6 | MI10%1 71/8 16
603 71/8 25 | 11
M1 TYPE e M1 M2 L L1 F
et | M2 401 71/8 R1/8
! | ]
] X 402 71/8 71/8 | 20
\
1
= . —t 403 Rel/8 R1/8 8
1
!
3 LF-4C 404 Rel/8 R1/8 14
i I i 22
* 1 - L1 405 Rel/8 71/8
L 406 | Rel/8 | zi/8 | 27 | 13
407 Rel/8 71/8 | 34 | 20




J QUG EQPPGEVQT

TYPE P.N. D M2 S L
401 24
10
402 M8s*1 25
403 v4 11
26
404 13
M10%1
405 12 28
406 M10%1 13 26
CL-A
407 6 M1251 14 32
408 27
M12%1.5 16
409 28
8
410
M16%1. 5 19
411 35
10
412 M18%1.5 21
3
4 N\
~=L.4 /// TYPE P.N. D M2 S L
_ i _ ol 401 V81 10 25
= oy}
CL-B 402 12 27
'(// B M10s%1
/ 601 6 14 29
L




TYPE P.N. M1 M2 L1 L S
M1
401 M8*1 M8*1
t 8 20 10
: 402 M8*1 M10%1
L 601 10
[7a)
I 602 M10%1 M10%1 9 25 11
603 12
I \
CL-C 604 23
8
= 605 R1/8 R1/8 20
I 10
| 606 9.5 25
I
M2 607 8 20
71/8 71/8
608 10 25 11
609 R1/8 R1/4 10 27 14
M1
\ TYPE P.N. D M1 L
|
CL-D 601 D4 M10%1 14
N
CL-D 801 ®5.5 M12%1. 25 16

L LS
S L

|




M

l: .\ TYPE | P.N. D D1 M1 L1 L
601 7 4.2 30 14
A
|\ 602 ®8.5 | ®4.5 18 4
NE CL-E M10%1
L 603 | ®8.5 | ®4.2
N | N 25 | 5.5
[ 604 | ®6.5 4
| N
N |
N I
I
. 0 |
M1
D
|
: TYPE | P.N. M1 M2 D L L1 | L2 | S
=
601 M10%1 4 20 7.5 13
|
CL-F | 801 M12%1. 25 5.5 22 8.5
16
y ' 802 | M12%1.25 | M10%1 @4 21.5 | 8.5 | 7.5
~
1
LI\
I
M2
ONC
‘\ 1
! TYPEP'ND1D2LL1HH1B?D3D
—rb 401 4 13| 4 7 4.5 | 11
\ | 601 D6 26 | 18 3
3 16 | 4.5 | 8 13
, CL-G | 602 | ®6 | @4
5.5
801 o8
EL 28 20 | 18| 5 | 10| 4 16
) 802 | ®8 | 6




ENKRU

[ 22 | @& wgesas| wesr | tom | Uom | 20m | LB3om | @ w @
[ 10E3M Tad =1 17 ] i
POAS | 106302 | ©4x2 P 21 9 i
PC43 10633 0 W4 x3 25 9 '
P4 ‘|ﬂ€:l'k1 . 4 0 4 42 I a2
PCA5 | 106305 @ ©4x5 R 46 i 3% 5 12 10 5.2
PCAG | 106306 04 XB 50 P a0
PC-B-1 . ARG . G A in N i
P-R-2 MR X2 I =] 4 n !
PCE3 | 26W3 | A X3 31 10 '




